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. i Trigonometry Test #2 Review Sheet
Ra_d'ans & Degrees
| Directions: Give each degree measure in radians and radian measure in degrees.
- 165° 2.-54° 3.243° e
s [ | S4BT 213 (20T
0 \ \ 2O O (LO , 20
i 13 in
4. : 5. — 'ﬁ;ﬁ G
) 20 ns
The Unit Circle _ _

quadrant IV?

7. Which trigonometric functions are negative in

8. If cos® < 0 and sinf < 0, which quadrant(s)
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Directions: Give the exact value of each trigonometric function.
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Law of Sines & Cosines
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Directions: Find each missing measure to th¢ nearest tenth, )
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Directions: Solve each triangle. Round all answers to t@\eare—sTfenttD
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22.  In AABC, mZA = 40°, AB = 26, and BC = 20. Find m£C.
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In APQR, mZP = 53", PQ = 16, and QR = 10. Find m£Q.
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24. In AXYZ, mzX = 96°, XZ = 15, and XY = 24. Find YZ.
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25. In AJKL, msL = 113°, JK = 21, and JL = 10. Find mZK.
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Area of a Triangle

Dlrectlons Find the area of each triangle to the nearest tenth\\
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